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void update(int &id,int 1,int r,int pos,int k

lid) id=++tot; /0000

l==r
/0000
int mid = (l+r)>>1;

pos<=mid) update(tr[id|.lc,1l,mid,pos,k);
update(tr{id|.rc,mid+1,r,pos,k);
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push up(id);
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int mergE(int p,int q,int 1,int r

'p qa; 'q p;

l==r

// merge leaf 00O

p;
int mid = (l+r)>>1;
tripl.lc = mergE(trip!.lc,triq!.lc,1,mid);
tripl.rc = merge(tr[pl.rc,triql.rc,mid+1,r);
push_up(p);
P’

goo

O0000000000000000000QAQIIO O $\text{update}$sC OO $logn$C DO OO OO
O $mlogn$0 O 0 0$m$0 O $\text{update}$0 O nOD 00000 OOO0OOOO

e8P a8 E858888000000$text{mergE}$0 00000000000 DOOODOOOOO
0000000000000 000D0000000%n-1$00000000000000000000
googd

ERN

P45560 000 O

O00000$m$0 0000000 OS$N\text{path<u,v>}$0000000%k$s000000O%$m$O0OO
gobooobbooobboonooooon

gobooobbooobbooobbooobbdoobboobbbooobbooobboa
O $\text{update}$0 00 0$4$s0 000000000 $4%

P3605 [USACO17]JAN]Promotion Counting P
Ogbdooooodotdouoooooooodoooobouton

000000000000 00000000000000000000 $\text{dfs}s000n0n0ad
0 $\text{query}$0 O

P3224 HNOI2012]0 0 O

$n$s0 0 0000000000000 0000ODO000DOO00O0O0ODO0$ks$O

https://wiki.cvbbacm.com/ Printed on 2025/08/25 03:42


https://www.luogu.com.cn/problem/P4556
https://www.luogu.com.cn/problem/P4556
https://www.luogu.com.cn/problem/P3605
https://www.luogu.com.cn/problem/P3224
https://www.luogu.com.cn/problem/P3224

2025/08/25 03:42 3/6 ooog

Osk$0 00000000 0DO0OO00O0DODOO0OODODOO

CF600E. Lomsat gelra

O000000%$cisj00D0000nonos$text{dsu}$f0 00000000000 DOOOO0OOOO
gobogoboodbobooobooboooobooooo

enmO000000000O0O$\text{dfs}$0000O

Infinity37

00

googgo

goooooo

000000000000 00000000000000salilooooninoooooooooon
goodoooogod

oooboooobo/oobo/ooobo/uoboo/oobg/moboboog

goobodad

build sall O

const int Len = +5;
char s[Len];

int clLen],salLen],val|Len]|,qlLen]|,newvalilLen];
bool is same(int a,int b,int hl,int len

vallal|==val|b|&&( (a+hl>1len&&b+hl>1len) | | (a+hl<len&&b+hl<len&&val|a+hl | ==val|b
+hl ;
void build sa(int len,int lim

int

=

LY
= 0;i<lim;i++)c[i]=0;
;i<len;i++)clvallil=s|i] | ++;
;i<lim;i++)clil+=cli-1];

= len-1;i>=0;i--)sal--c[valli = 1i;
int d=1;;d++

L
Il
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int hl = 1<<(d-1),id = 0;

i = 0;i<len;i++ salil+hl>=len)qlid++| = salil;
i = 0;i<len;i++ salil>=h1l)qlid++] = salil-hl;
i si<lim;i++)cli] = 0;
i ;i<len;i++)clvallqli] | |++;
i = 1;i<lim;i++)clil+=cli-1];
i = len-1;i>= 0;i--)sal--clvaliqgli = q[i];
lim = 0;
i = 0;i<len;lim++
j = i;j<len-1&&is same(salj!,salj+1!,hl,len);j++);
k = 1,1 = j+1;k<=j;k++)newvalisalk]/] = lim;
int i = 0;i<len;i++)valli] = newval|il;
lim==1en ;

OheightiDOOIODOOOODOOiIO0DO0OO0ODOOOO)rank(DOOIODOOOOD)DOO
void build rank(int len

int i= 0;i<len;i++
rnk[salill=1i;

void build height(int len

int i = 0;i<len;i++
rnk| i
int j = 0;
i)j=max(0,h[rnk|i- -1);
i+j<len&&salrnk|[i]-1]+j<len&&s|i+jl==s|salrnkii|-11+j])j++;
hirnkiil|=7;
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